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QUESTION 1

A total of S72.000 was invested for one month in a new money market account that paid simple annual interest at the
rate of r percent- If the investment earned $360 in interest for the month, what is the value of r?

A.5.0
B. 6.0
C.6.5
D.7.0
E.75

Correct Answer: B

QUESTION 2

The sequence al, a2, a3 ,,,,an is defined by

T
a, = for all integers n 2 1.
n+

Quantity A Quantity B

The product of the first 20 terms of the —
sequence

A. Quantity A is greater.

B. Quantity B is greater.

C. The two quantities are equal.

D. The relationship cannot be determined from the information given.

Correct Answer: B

QUESTION 3

One of the remarkable things about (i) is that it can seem so (i) : many of the issues about which
people (iii) seem, to the nonzealot. to be gray and ambiguous at the core.

A. erudition
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B. duplicity

C. conviction

D. benign

E. self-serving

F. unreasonable

G. feel absolute certainty

H. fail to educate themselves
. find themselves puzzled

Correct Answer: AFH

QUESTION 4

In thexy -plane, line [ hns x -intercept 3 and y <intercept 4, and line w bos x -intercept 4 and v -intercept 3.

Quantity A Cuantity B
The slope of line £ The slope of line m

A. Quantity A is greater.

B. Quantity B is greater.

C. The two quantities are equal.

D. The relationship cannot be determined from the information given.

Correct Answer: B

QUESTION 5
Quantity A Quantity B
100! 100! =991
991 938!

A. Quantity A is greater.
B. Quantity B is greater.

C. The two quantities are equal.
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D. The relationship cannot be determined from the information given.

Correct Answer: B
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